No discrete with continuous Object Node

Abbreviation

Discrete[1]

Description

This validation rule checks to see if the «discrete» and «continuous» stereotypes are applied to the same Object Node at the same time.
Severity

warning

Constrained Element

Object Node

Solvers

To fix this, leave only one «discrete» or «continuous» stereotype applied for the same Object Node at the same time.

Example

act [Activity] Distil Water[ 4. parallel continucus ]‘,J act [Activity] Distil Water[ 4. parallel continuous ]‘J

scontinuouss
cold dirty : H20
{stream}

adiscretes
cold dirty : H20
{ztream}

cold dirty : H20y

cold dirty : H20y
{stream}

{stream}

The cold dirty Activity Parameter Node can have only one «discrete» or «continuous» stereotype applied at the same time.
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